A pendulum consists of a bob of mass m = 0.1 kg and a massless mextensible string of
length L=1.0m. It is suspandad from a fixed point at haight H = 0.9 m above a
frictionless harizental flcor, Initially, the bob of the pendulum is lying on the fioor at rest
verlically below the point of suspension. & horizontal impulse P = 0.2 kg-mis is
impartad o the bab al some instant. After the bob slides for some distance. the siring
becomes taut and the baob lifts off the floor. The magnitude of the angular momentum
of the pandulum about the palint of suspension just before the bob lifts off s J kg-rrrzfs.
The kingtic energy of the pendulum just after the IIN-off is K Joules

The value of J is

The value of K is

Solution:
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Angular momentum = L = mvr,
=0.2 x 0.9
= (.18
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2siné will become zero
because of impulse from string

K.E. = %mmzmgf = 0.16]



